



Research Article

HERMITE-HADAMARD AND SIMPSON TYPE INEQUALITIES FOR MULTIPLICATIVELY HARMONICALLY P-FUNCTIONSMahir KADAKAL*¹¹Department of Mathematics, Giresun University, GİRESUN; ORCID: 0000-0002-0240-918X

Received: 14.02.2019 Revised: 16.08.2019 Accepted: 07.10.2019

ABSTRACT

In this paper, using the Hölder-İşcan and improved power-mean integral inequalities together with an identity, we obtain new estimates on generalization of Hadamard and Simpson type inequalities for multiplicatively harmonically P -functions. The obtained results are compared with the previous ones.

Keywords: Multiplicatively P -function, multiplicatively harmonically P -functions, Hermite-Hadamard type inequalities, Simpson type inequality, Hölder-İşcan inequality, improved power-mean inequality.

AMS classification: 26A51, 26D15, 26D10.

1. INTRODUCTION

Let real function f be defined on some nonempty interval I of the real line \mathbb{R} . The function f is said to be convex on interval I if the following inequality

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y)$$

holds for all $x, y \in I$ and $t \in [0,1]$.

The following inequalities are well known in the literature as Hermite-Hadamard inequality [2] and Simpson inequality [1] respectively:

Theorem 1. Let $f: I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function defined on the interval I and $a, b \in I$. The following double inequality holds

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a)+f(b)}{2}.$$

Theorem 2. Let $f: [a, b] \rightarrow \mathbb{R}$ be a four times continuously differentiable mapping on (a, b) and $\|f^{(4)}\|_{\infty} = \sup_{x \in (a,b)} |f^{(4)}(x)| < \infty$. Then the following inequality holds:

$$\left| \frac{1}{3} \left[\frac{f(a)+f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{2880} \|f^{(4)}\|_{\infty} (b-a)^4.$$

Let $H = H(a, b) = 2ab/(a+b)$, $G = G(a, b) = \sqrt{ab}$, $L = L(a, b) = (b-a)/(\ln b - \ln a)$, $I = I(a, b) = (1/e)(b^b/a^a)^{1/(b-a)}$, $A = A(a, b) = \frac{a+b}{2}$, $A_{\lambda} = A_{\lambda}(a, b) := \lambda b + (1-\lambda)a$, $\lambda \in$

* Corresponding Author: e-mail: mahirkadakal@gmail.com, tel: (454) 310 14 00

$[0,1]$ and $L_p = L_p(a, b) = \left(\frac{b^{p+1}-a^{p+1}}{(p+1)(b-a)}\right)^{\frac{1}{p}}$, $p \in \mathbb{R} \setminus \{-1,0\}$, be the geometric, logarithmic, identric, arithmetic, weighted arithmetic and p-logarithmic means of a and b , respectively. Then

$$\min\{a, b\} < H < G < L < I < A < \max\{a, b\}.$$

In [3], S.S. Dragomir et.al. defined the following new class of functions.

Definition 1. We recall that a function $f: I \subset \mathbb{R} \rightarrow \mathbb{R}$ is said to be P -function on I or belong to the class $P(I)$ if it is nonnegative and,

$$f(tx + (1 - t)y) \leq f(x) + f(y)$$

for all $x, y \in I$ and $t \in [0,1]$. Note that $P(I)$ contains all nonnegative convex and quasi-convex functions [1].

Example 1. [11] A non-negative function $f: I \rightarrow \mathbb{R}$ is called trigonometrically convex function on interval $[a, b]$, if for each $x, y \in [a, b]$ and $t \in [0,1]$,

$$f(tx + (1 - t)y) \leq \left(\sin \frac{\pi t}{2}\right) f(x) + \left(\cos \frac{\pi t}{2}\right) f(y).$$

Clearly, if $f(x)$ is a nonnegative function, then every trigonometric convex function is a P -function. Indeed,

$$f(tx + (1 - t)y) \leq \left(\sin \frac{\pi t}{2}\right) f(x) + \left(\cos \frac{\pi t}{2}\right) f(y) \leq f(x) + f(y).$$

In recent years, many authors have studied errors estimations for Hermite-Hadamard and Simpson inequalities; for refinements, counterparts, generalizations see [5, 6, 14] and references therein.

In [4], İşcan gave the definition of harmonically convexity as follows:

Definition 2. Let $I \subseteq \mathbb{R} \setminus \{0\}$ be a real interval. A function $f: I \rightarrow \mathbb{R}$ is said to be harmonically convex, if

$$f\left(\frac{xy}{tx+(1-t)y}\right) \leq tf(y) + (1-t)f(x) \tag{1.1}$$

for all $x, y \in I$ and $t \in [0,1]$. If the inequality in (1.1) is reversed, then f is said to be harmonically concave.

The following result of the Hermite-Hadamard type inequality holds.

Theorem 3. Let $f: I \subseteq \mathbb{R} \setminus \{0\} \rightarrow \mathbb{R}$ be a harmonically convex function and $a, b \in I$ with $a < b$. If $f \in L[a, b]$ then the following inequalities hold

$$f\left(\frac{2ab}{a+b}\right) \leq \frac{ab}{b-a} \int_a^b \frac{f(x)}{x^2} dx \leq \frac{f(a)+f(b)}{2}.$$

In [10], Kadakal gave the definition of multiplicatively P -function (or log- P -function) as follows:

Definition 3. Let $I \neq \emptyset$ be an interval in \mathbb{R} . The function $f: I \rightarrow [0, \infty)$ is said to be multiplicatively P -function (or log- P -function), if the inequality

$$f(tx + (1 - t)y) \leq f(x)f(y)$$

holds for all $x, y \in I$ and $t \in [0,1]$.

We will denote by $MP(I)$ the class of all multiplicatively P -functions on interval I . Clearly, $f: I \rightarrow (0, \infty)$ is multiplicatively P -function if and only if $\log f$ is P -function.

Remark 1. The range of the multiplicatively P -functions is greater than or equal to 1.

The following result of the Hermite-Hadamard type inequalities holds for multiplicatively P -functions:

Theorem 4. Let the function $f: I \rightarrow [1, \infty)$ be a multiplicatively P -function and $a, b \in I$ with $a < b$. If $f \in L[a, b]$, then the following inequalities hold:

- i) $f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x)f(a+b-x)dx \leq [f(a)f(b)]^2$
- ii) $f\left(\frac{a+b}{2}\right) \leq f(a)f(b) \frac{1}{b-a} \int_a^b f(x)dx \leq [f(a)f(b)]^2$

Definition 4. A function $f: I \subseteq (0, \infty) \rightarrow \mathbb{R}$ is said to be harmonically P -function on I or belong to the class $HP(I)$ if it is nonnegative and,

$$f\left(\frac{xy}{ty+(1-t)x}\right) \leq f(x) + f(y),$$

for all $x, y \in I$ and $t \in [0,1]$.

Hermite-Hadamard inequalities can be represented for harmonically P -function as follows.

Theorem 5. Let $f: I \subseteq (0, \infty) \rightarrow \mathbb{R}$ be a function such that $f \in L[a, b]$, where $a, b \in I$ with $a < b$. If f is a harmonically P -function on $[a, b]$, then the following inequalities hold:

$$f\left(\frac{2ab}{a+b}\right) \leq \frac{2ab}{b-a} \int_a^b \frac{f(u)}{u^2} du \leq 2[f(a) + f(b)].$$

In [9], İşcan and Olucak gave the definition of multiplicatively harmonically P -function as follows:

Definition 5. Let $I \neq \emptyset$ be an interval in $\mathbb{R} \setminus \{0\}$. The function $f: I \rightarrow [0, \infty)$ is said to be multiplicatively harmonically P -function, if the inequality

$$f\left(\frac{xy}{ty+(1-t)x}\right) \leq f(x)f(y)$$

holds for all $x, y \in I$ and $t \in [0,1]$.

Example 2. The function $f: [1, \infty) \rightarrow [1, \infty)$, $f(x) = x$ is a multiplicatively harmonically P -function. Really, for any $x, y \in [1, \infty)$ with $x < y$, we have

$$f\left(\frac{xy}{ty+(1-t)x}\right) = \frac{xy}{ty+(1-t)x} \leq y \leq xy = f(x)f(y).$$

Example 3. The function $f: (0, \infty) \rightarrow (0, \infty)$, $f(x) = e^x$ is a multiplicatively harmonically P -function. Since, for any $x, y \in (0, \infty)$ with $x < y$, we have

$$f\left(\frac{xy}{ty+(1-t)x}\right) = e^{\frac{xy}{ty+(1-t)x}} \leq e^y \leq e^x e^y = f(x)f(y).$$

We will denote by $MHP(I)$ the class of all multiplicatively harmonically P -functions on interval I .

The following result of the Hermite-Hadamard type inequalities hold for multiplicatively harmonically P -function:

Theorem 6. Let the function $f: I \subseteq \mathbb{R} \setminus \{0\} \rightarrow [1, \infty)$ be a multiplicatively harmonically P -function and $a, b \in I$ with $a < b$. If $f \in L[a, b]$, then the following inequalities hold:

- i) $f\left(\frac{2ab}{a+b}\right) \leq \frac{ab}{b-a} \int_a^b \frac{f(x)f([a^{-1}+b^{-1}-x^{-1}]^{-1})}{x^2} dx \leq [f(a)f(b)]^2$
- ii) $f\left(\frac{2ab}{a+b}\right) \leq f(a)f(b) \frac{ab}{b-a} \int_a^b \frac{f(x)}{x^2} dx \leq [f(a)f(b)]^2$.

A refinement of Hölder integral inequality better approach than Hölder integral inequality can be given as follows [7]:

Theorem 7 (Hölder-İşcan Integral Inequality [7]). Let $p > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$. If f and g are real functions defined on $[a, b]$ and if $|f|^p, |g|^q$ are integrable functions on $[a, b]$ then

$$\int_a^b |f(x)g(x)|dx \leq \frac{1}{b-a} \left\{ \left(\int_a^b (b-x)|f(x)|^p dx \right)^{\frac{1}{p}} \left(\int_a^b (b-x)|g(x)|^q dx \right)^{\frac{1}{q}} + \left(\int_a^b (x-a)|f(x)|^p dx \right)^{\frac{1}{p}} \left(\int_a^b (x-a)|g(x)|^q dx \right)^{\frac{1}{q}} \right\}$$

A refinement of power-mean integral inequality better approach than power-mean inequality as a result of the Hölder-İşcan integral inequality can be given as follows [12]:

Theorem 8 (Improved power-mean integral inequality [12]). *Let $q \geq 1$. If f and g are real functions defined on $[a, b]$ and if $|f|, |f||g|^q$ are integrable functions on $[a, b]$ then*

$$\int_a^b |f(x)g(x)|dx \leq \frac{1}{b-a} \left\{ \left(\int_a^b (b-x)|f(x)|dx \right)^{1-\frac{1}{q}} \left(\int_a^b (b-x)|f(x)||g(x)|^q dx \right)^{\frac{1}{q}} + \left(\int_a^b (x-a)|f(x)|dx \right)^{1-\frac{1}{q}} \left(\int_a^b (x-a)|f(x)||g(x)|^q dx \right)^{\frac{1}{q}} \right\}$$

In this paper, using Hölder-İşcan integral inequality better approach than Hölder integral inequality and improved power-mean integral inequality better approach than power-mean inequality and together with an integral identity, authors obtain a generalization of Hadamard and Simpson inequalities for functions whose derivatives in absolute value at certain power are multiplicatively harmonically P -functions. In addition, we compare the results with the previous ones.

2. MAIN RESULTS

Let $f: I \subseteq (0, \infty) \rightarrow \mathbb{R}$ be a differentiable function on I° , the interior of I . Throughout this section we will take

$$I_f(\lambda, \mu, a, b) = (\lambda - \mu)f\left(\frac{2ab}{a+b}\right) + (1 - \lambda)f(a) + \mu f(b) - \frac{ab}{b-a} \int_a^b \frac{f(u)}{u^2} du$$

where $a, b \in I$ with $a < b$ and $\lambda, \mu \in \mathbb{R}$.

In order to prove our main results we need the following identity [8].

Lemma 1. *Let $f: I \subseteq (0, \infty) \rightarrow \mathbb{R}$ be a differentiable function on I° such that $f' \in L[a, b]$, where $a, b \in I$ with $a < b$. Then for all $\lambda, \mu \in \mathbb{R}$ we have:*

$$I_f(\lambda, \mu, a, b) = ab(b-a) \left\{ \int_0^{\frac{1}{2}} \frac{\mu-t}{A_t^2} f'\left(\frac{ab}{A_t}\right) dt + \int_{\frac{1}{2}}^1 \frac{\lambda-t}{A_t^2} f'\left(\frac{ab}{A_t}\right) dt \right\}, \tag{2.1}$$

where $A_t = tb + (1-t)a$.

Theorem 9. *Let $f: I \subset (0, \infty) \rightarrow \mathbb{R}$ be a differentiable function on I° such that $f' \in L[a, b]$, where $a, b \in I^\circ$ with $a < b$. If $|f'|^q$ is multiplicatively harmonically P -function on the interval $[a, b]$ for some fixed $q \geq 1$ and $0 \leq \mu \leq \frac{1}{2} \leq \lambda \leq 1$, then the following inequality holds for $q > 1$*

$$|I_f(\lambda, \mu, a, b)| \leq 2ab(b-a) |f'(a)||f'(b)| \left[C_1^{1-\frac{1}{q}}(\mu) D_1^{\frac{1}{q}}(\mu, q, a, b) + C_2^{1-\frac{1}{q}}(\mu) D_2^{\frac{1}{q}}(\mu, q, a, b) + C_3^{1-\frac{1}{q}}(\lambda) D_3^{\frac{1}{q}}(\lambda, q, a, b) + C_4^{1-\frac{1}{q}}(\lambda) D_4^{\frac{1}{q}}(\lambda, q, a, b) \right], \tag{2.2}$$

where

$$\int_0^{1/2} \left(\frac{1}{2} - t\right) |\mu - t| dt = C_1(\mu) = -\frac{\mu^3}{3} + \frac{\mu^2}{2} - \frac{\mu}{8} + \frac{1}{48}, \tag{2.3}$$

$$\int_0^{1/2} t |\mu - t| dt = C_2(\mu) = \frac{\mu^3}{3} - \frac{\mu}{8} + \frac{1}{24}$$

$$\begin{aligned}
 \int_{1/2}^1 (1-t)|\lambda-t|dt &= C_3(\lambda) = -\frac{\lambda^3}{3} + \lambda^2 - \frac{7\lambda}{8} + \frac{1}{4}, \\
 \int_{1/2}^1 \left(t - \frac{1}{2}\right)|\lambda-t|dt &= C_4(\lambda) = \frac{\lambda^3}{3} - \frac{\lambda^2}{2} + \frac{\lambda}{8} + \frac{1}{16}
 \end{aligned}$$

$$D_1(\mu, q, a, b) = \begin{cases} \frac{1}{2(b-a)^2} [-L_{-2q+2}^{-2q}(A, a) + (A+a)L_{-2q+1}^{-2q+1}(A, a) - aAL_{-2q}^{-2q}(A, a)], \\ \mu = 0 \\ \left\{ \frac{\mu}{(b-a)^2} [AA_{\mu}L_{-2q}^{-2q}(A_{\mu}, a) - (A+A_{\mu})L_{-2q+1}^{-2q+1}(A_{\mu}, a) + L_{-2q+2}^{-2q+2}(A_{\mu}, a)] \right. \\ \left. + \frac{(1-2\mu)}{2(b-a)^2} [-AA_{\mu}L_{-2q}^{-2q}(A, A_{\mu}) + (A+A_{\mu})L_{-2q+1}^{-2q+1}(A, A_{\mu}) - L_{-2q+2}^{-2q+2}(A, A_{\mu})] \right\} \\ 0 < \mu < \frac{1}{2} \\ \frac{1}{2(b-a)^2} [A^2L_{-2q}^{-2q}(A, a) - 2AL_{-2q+1}^{-2q+1}(A, a) + L_{-2q+2}^{-2q+2}(A, a)], \\ \mu = \frac{1}{2} \end{cases}$$

$$D_2(\mu, q, a, b) = \begin{cases} \frac{1}{2(b-a)^2} [-L_{-2q+2}^{-2q+2}(A, a) - 2aL_{-2q+1}^{-2q+1}(A, a) + a^2L_{-2q}^{-2q}(A, a)], \\ \mu = 0 \\ \left\{ \frac{\mu}{(b-a)^2} [-aA_{\mu}L_{-2q}^{-2q}(A_{\mu}, a) + (a+A_{\mu})L_{-2q+1}^{-2q+1}(A_{\mu}, a) - L_{-2q+2}^{-2q+2}(A_{\mu}, a)] \right. \\ \left. + \frac{(1-2\mu)}{2(b-a)^2} [aA_{\mu}L_{-2q}^{-2q}(A, A_{\mu}) - (a+A_{\mu})L_{-2q+1}^{-2q+1}(A, A_{\mu}) + L_{-2q+2}^{-2q+2}(A, A_{\mu})] \right\} \\ 0 < \mu < \frac{1}{2} \\ \frac{1}{2(b-a)^2} [-aAL_{-2q}^{-2q}(A, a) + (a+A)L_{-2q+1}^{-2q+1}(A, a) - L_{-2q+2}^{-2q+2}(A, a)], \\ \mu = \frac{1}{2} \end{cases}$$

$$D_3(\lambda, q, a, b) = \begin{cases} \frac{1}{2(b-a)^2} [-bAL_{-2q}^{-2q}(A, b) + (b+A)L_{-2q+1}^{-2q+1}(A, b) - L_{-2q+2}^{-2q+2}(A, b)], \\ \lambda = \frac{1}{2} \\ \left\{ \frac{(1-\lambda)}{(b-a)^2} [-bA_{\lambda}L_{-2q}^{-2q}(A_{\lambda}, b) + (b+A_{\lambda})L_{-2q+1}^{-2q+1}(A_{\lambda}, b) - L_{-2q+2}^{-2q+2}(A_{\lambda}, b)] \right. \\ \left. + \frac{(2\lambda-1)}{2(b-a)^2} [-bA_{\lambda}L_{-2q}^{-2q}(A, A_{\lambda}) - (b+A_{\lambda})L_{-2q+1}^{-2q+1}(A, A_{\lambda}) + L_{-2q+2}^{-2q+2}(A_{\lambda}, A)] \right\} \\ \frac{1}{2} < \lambda < 1 \\ \frac{1}{2(b-a)^2} [b^2L_{-2q}^{-2q}(b, A) - 2bL_{-2q+1}^{-2q+1}(b, A) + L_{-2q+2}^{-2q+2}(b, A)], \\ \lambda = 1 \end{cases}$$

$$D_4(\lambda, q, a, b) = \begin{cases} \frac{1}{2(b-a)^2} [A^2L_{-2q}^{-2q}(A, b) - 2AL_{-2q+1}^{-2q+1}(A, b) + L_{-2q+2}^{-2q+2}(A, b)], \\ \lambda = \frac{1}{2} \\ \left\{ \frac{(1-\lambda)}{(b-a)^2} [AA_{\lambda}L_{-2q}^{-2q}(A_{\lambda}, b) - (A+A_{\lambda})L_{-2q+1}^{-2q+1}(A_{\lambda}, b) + L_{-2q+2}^{-2q+2}(A_{\lambda}, b)] \right. \\ \left. + \frac{(2\lambda-1)}{2(b-a)^2} [-AA_{\lambda}L_{-2q}^{-2q}(A, A_{\lambda}) + (A+A_{\lambda})L_{-2q+1}^{-2q+1}(A, A_{\lambda}) - L_{-2q+2}^{-2q+2}(A_{\lambda}, A)] \right\} \\ \frac{1}{2} < \lambda < 1 \\ \frac{1}{2(b-a)^2} [-AbL_{-2q}^{-2q}(A, b) + (A+b)L_{-2q+1}^{-2q+1}(A, b) - L_{-2q+2}^{-2q+2}(A, b)], \\ \lambda = 1 \end{cases}$$

$$\begin{aligned}
 D_1(\mu, 1, a, b) &= \begin{cases} \frac{1}{2(b-a)^2} [(A+a)L^{-1}(A, a) - 2], & \mu = 0 \\ \left\{ \frac{\mu}{(b-a)^2} \left[\frac{A+a}{a} - (A+A_\mu)L^{-1}(A_\mu, a) \right] \right. \\ \left. + \frac{(1-2\mu)}{2(b-a)^2} [(A+A_\mu)L^{-1}(A, A_\mu) - 2] \right\} & 0 < \mu < \frac{1}{2}, \\ \frac{1}{2(b-a)^2} \left[\frac{A+a}{2} - 2AL^{-1}(A, a) \right], & \mu = \frac{1}{2} \end{cases} \\
 D_2(\mu, 1, a, b) &= \begin{cases} \frac{1}{2(b-a)^2} \left[\frac{A+a}{2} - 2aL^{-1}(A, a) \right], & \mu = 0 \\ \left\{ \frac{\mu}{(b-a)^2} [(a+A_\mu)L^{-1}(A_\mu, a) - 2] \right. \\ \left. + \frac{(1-2\mu)}{2(b-a)^2} \left[\frac{A+a}{A} - (a+A_\mu)L^{-1}(A, A_\mu) \right] \right\} & 0 < \mu < \frac{1}{2}, \\ \frac{1}{2(b-a)^2} [(A+a)L^{-1}(A, a) - 2], & \mu = \frac{1}{2} \end{cases} \\
 D_3(\lambda, 1, a, b) &= \begin{cases} \frac{1}{2(b-a)^2} [(b+A)L^{-1}(A, b) - 2], & \lambda = \frac{1}{2} \\ \left\{ \frac{(1-\lambda)}{(b-a)^2} [(b+A_\lambda)L^{-1}(A_\lambda, b) - 2] \right. \\ \left. + \frac{(2\lambda-1)}{2(b-a)^2} \left[\frac{A+b}{A} - (b+A_\lambda)L^{-1}(A, A_\lambda) \right] \right\} & \frac{1}{2} < \lambda < 1, \\ \frac{1}{2(b-a)^2} \left[\frac{b+A}{2} - 2bL^{-1}(b, A) \right], & \lambda = 1 \end{cases} \\
 D_4(\lambda, 1, a, b) &= \begin{cases} \frac{1}{2(b-a)^2} \left[\frac{b+A}{b} - 2AL^{-1}(A, b) \right], & \lambda = \frac{1}{2} \\ \left\{ \frac{(1-\lambda)}{(b-a)^2} \left[\frac{b+A}{b} + (A+A_\lambda)L^{-1}(A_\lambda, b) \right] \right. \\ \left. + \frac{(2\lambda-1)}{2(b-a)^2} [(A+A_\lambda)L^{-1}(A, A_\lambda) - 2] \right\} & \frac{1}{2} < \lambda < 1, \\ \frac{1}{2(b-a)^2} [(A+b)L^{-1}(A, b) - 2], & \lambda = 1. \end{cases}
 \end{aligned}$$

Proof. Since $|f'|^q$ is multiplicatively harmonically P -function on interval $[a, b]$, $\left|f' \left(\frac{ab}{A_t}\right)\right|^q \leq |f'(a)|^q |f'(b)|^q$ for all $t \in [0,1]$. Hence, using Lemma 1 and improved power-mean integral inequality we obtain

$$\begin{aligned}
 I_f(\lambda, \mu, a, b) &\leq 2ab(b-a) \left\{ \left(\int_0^{1/2} \left(\frac{1}{2}-t\right) |\mu-t| dt \right)^{1-\frac{1}{q}} \left(\int_0^{1/2} \left(\frac{1}{2}-t\right) |\mu-t| \frac{|f'(a)|^q |f'(b)|^q}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right. \\
 &\quad \left. + \left(\int_0^{1/2} t |\mu-t| dt \right)^{1-\frac{1}{q}} \left(\int_0^{1/2} t |\mu-t| \frac{|f'(a)|^q |f'(b)|^q}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right\} \\
 &\quad + 2ab(b-a) \left\{ \left(\int_{1/2}^1 (1-t) |\lambda-t| dt \right)^{1-\frac{1}{q}} \left(\int_{1/2}^1 (1-t) |\lambda-t| \frac{|f'(a)|^q |f'(b)|^q}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right. \\
 &\quad \left. + \left(\int_{1/2}^1 \left(t-\frac{1}{2}\right) |\lambda-t| dt \right)^{1-\frac{1}{q}} \left(\int_{1/2}^1 \left(t-\frac{1}{2}\right) |\lambda-t| \frac{|f'(a)|^q |f'(b)|^q}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right\} \\
 &\leq 2ab(b-a) |f'(a)| |f'(b)| \left\{ \left(\int_0^{1/2} \left(\frac{1}{2}-t\right) |\mu-t| dt \right)^{1-\frac{1}{q}} \left(\int_0^{1/2} \left(\frac{1}{2}-t\right) \frac{|\mu-t|}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right. \\
 &\quad \left. + \left(\int_0^{1/2} t |\mu-t| dt \right)^{1-\frac{1}{q}} \left(\int_0^{1/2} t |\mu-t| \frac{1}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right\}
 \end{aligned}$$

$$+2ab(b-a)|f'(a)||f'(b)| \left\{ \left(\int_{1/2}^1 (1-t)|\lambda-t|dt \right)^{1-\frac{1}{q}} \left(\int_{1/2}^1 \frac{(1-t)|\lambda-t|}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right. \\ \left. + \left(\int_{1/2}^1 \left(t-\frac{1}{2}\right)|\lambda-t|dt \right)^{1-\frac{1}{q}} \left(\int_{1/2}^1 \left(t-\frac{1}{2}\right)\frac{|\lambda-t|}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right\},$$

where

$$\int_0^{1/2} \left(\frac{1}{2}-t\right)|\mu-t|dt = C_1(\mu) = -\frac{\mu^3}{3} + \frac{\mu^2}{2} - \frac{\mu}{8} + \frac{1}{48}, \\ \int_0^{1/2} t|\mu-t|dt = C_2(\mu) = \frac{\mu^3}{3} - \frac{\mu}{8} + \frac{1}{24}, \\ \int_{1/2}^1 (1-t)|\lambda-t|dt = C_3(\lambda) = -\frac{\lambda^3}{3} + \lambda^2 - \frac{7\lambda}{8} + \frac{1}{4}, \\ \int_{1/2}^1 \left(t-\frac{1}{2}\right)|\lambda-t|dt = C_4(\lambda) = \frac{\lambda^3}{3} - \frac{\lambda^2}{2} + \frac{\lambda}{8} + \frac{1}{16}, \\ \int_0^{1/2} \left(\frac{1}{2}-t\right)|\mu-t|\frac{1}{A_t^{2q}}dt = D_1(\mu, q, a, b), \quad \int_0^{1/2} t|\mu-t|\frac{1}{A_t^{2q}}dt = D_2(\mu, q, a, b) \\ \int_{1/2}^1 (1-t)|\lambda-t|\frac{1}{A_t^{2q}}dt = D_3(\lambda, q, a, b), \quad \int_{1/2}^1 \left(t-\frac{1}{2}\right)|\lambda-t|\frac{1}{A_t^{2q}}dt = D_4(\lambda, q, a, b)$$

which completes the proof.

In the following, Hermite-Hadamard type and Simpson type integral inequalities are obtained in special cases of λ and μ .

Corollary 1. *Under the assumptions of Theorem 9 with $\lambda = \mu = \frac{1}{2}$, the inequality (2.2) reduced to the Hermite-Hadamard type following inequality*

$$\left| \frac{f(a)+f(b)}{2} - \frac{ab}{b-a} \int_a^b \frac{f(u)}{u^2} du \right| \leq 2ab(b-a)|f'(a)||f'(b)| \\ \times \\ \left[C_1^{1-\frac{1}{q}}\left(\frac{1}{2}\right)D_1^{\frac{1}{q}}\left(\frac{1}{2}, q, a, b\right) + C_2^{1-\frac{1}{q}}\left(\frac{1}{2}\right)D_2^{\frac{1}{q}}\left(\frac{1}{2}, q, a, b\right) + C_3^{1-\frac{1}{q}}\left(\frac{1}{2}\right)D_3^{\frac{1}{q}}\left(\frac{1}{2}, q, a, b\right) + \right. \\ \left. C_4^{1-\frac{1}{q}}\left(\frac{1}{2}\right)D_4^{\frac{1}{q}}\left(\frac{1}{2}, q, a, b\right) \right].$$

Corollary 2. *Under the assumptions of Theorem 9 with $\mu = 0$ and $\lambda = 1$, the inequality (2.2) reduced to the following Hermite-Hadamard type inequality*

$$\left| f\left(\frac{2ab}{a+b}\right) - \frac{ab}{b-a} \int_a^b \frac{f(u)}{u^2} du \right| \leq 2ab(b-a)|f'(a)||f'(b)| \\ \times \\ \left[C_1^{1-\frac{1}{q}}(0)D_1^{\frac{1}{q}}(0, q, a, b) + C_2^{1-\frac{1}{q}}(0)D_2^{\frac{1}{q}}(0, q, a, b) + C_3^{1-\frac{1}{q}}(1)D_3^{\frac{1}{q}}(1, q, a, b) + C_4^{1-\frac{1}{q}}(1)D_4^{\frac{1}{q}}(1, q, a, b) \right].$$

Corollary 3. *Under the assumptions of Theorem 9 with $\mu = \frac{1}{6}$ and $\lambda = \frac{5}{6}$, the inequality (2.2) reduced to the following Simpson type inequality*

$$\left| \frac{1}{3} \left[\frac{f(a)+f(b)}{2} + 2f\left(\frac{2ab}{a+b}\right) \right] - \frac{ab}{b-a} \int_a^b \frac{f(u)}{u^2} du \right| \leq 2ab(b-a)|f'(a)||f'(b)| \\ \times \\ \left[C_1^{1-\frac{1}{q}}\left(\frac{1}{6}\right)D_1^{\frac{1}{q}}\left(\frac{1}{6}, q, a, b\right) + C_2^{1-\frac{1}{q}}\left(\frac{1}{6}\right)D_2^{\frac{1}{q}}\left(\frac{1}{6}, q, a, b\right) + C_3^{1-\frac{1}{q}}\left(\frac{5}{6}\right)D_3^{\frac{1}{q}}\left(\frac{5}{6}, q, a, b\right) + \right. \\ \left. C_4^{1-\frac{1}{q}}\left(\frac{5}{6}\right)D_4^{\frac{1}{q}}\left(\frac{5}{6}, q, a, b\right) \right].$$

Corollary 4. Under the assumptions of Theorem 9, If we take $q = 1$ in the inequality (2.2), then we have the following inequality:

$$I_f(\lambda, \mu, a, b) \leq 2ab(b - a)|f'(a)||f'(b)| \times [D_1(\mu, 1, a, b) + D_2(\mu, 1, a, b) + D_3(\lambda, 1, a, b) + D_4(\lambda, 1, a, b)].$$

Theorem 10. Let $f: I \subset (0, \infty) \rightarrow \mathbb{R}$ be a differentiable function on I° such that $f' \in L[a, b]$, where $a, b \in I^\circ$ with $a < b$. If the function $|f'|^q$ is multiplicatively harmonically P -function on $[a, b]$ for some fixed $q > 1$, $\frac{1}{p} + \frac{1}{q} = 1$ and $0 \leq \mu \leq \frac{1}{2} \leq \lambda \leq 1$, then the following inequality holds

$$I_f(\lambda, \mu, a, b) \leq 2ab(b - a)|f'(a)||f'(b)| \times \left\{ C_5^{\frac{1}{p}}(\mu, p) D_5^{\frac{1}{q}}(q, a, b) + C_6^{\frac{1}{p}}(\mu, p) D_6^{\frac{1}{q}}(q, a, b) + C_7^{\frac{1}{p}}(\lambda, p) D_7^{\frac{1}{q}}(q, a, b) + C_8^{\frac{1}{p}}(\lambda, p) D_8^{\frac{1}{q}}(q, a, b) \right\} \quad (2.4)$$

where

$$C_5(\mu, p) = \int_0^{1/2} \left(\frac{1}{2} - t\right) |\mu - t|^p dt = \left(\frac{1}{2} - \mu\right) \left[\frac{\mu^{p+1} + \left(\frac{1}{2} - \mu\right)^{p+1}}{p+1} \right] + \left[\frac{\mu^{p+2} - \left(\frac{1}{2} - \mu\right)^{p+2}}{p+2} \right],$$

$$C_6(\mu, p) = \int_0^{1/2} t |\mu - t|^p dt = \mu \left[\frac{\mu^{p+1} + \left(\frac{1}{2} - \mu\right)^{p+1}}{p+1} \right] + \left[\frac{\left(\frac{1}{2} - \mu\right)^{p+2} - \mu^{p+2}}{p+2} \right],$$

$$C_7(\lambda, p) = \int_{1/2}^1 (1 - t) |\lambda - t|^p dt = (1 - \lambda) \left[\frac{\left(\lambda - \frac{1}{2}\right)^{p+1} + (1 - \lambda)^{p+1}}{p+1} \right] + \left[\frac{\left(\lambda - \frac{1}{2}\right)^{p+2} - (1 - \lambda)^{p+2}}{p+2} \right],$$

$$C_8(\lambda, p) = \int_{1/2}^1 \left(t - \frac{1}{2}\right) |\lambda - t|^p dt = \left(\lambda - \frac{1}{2}\right) \left[\frac{\left(\lambda - \frac{1}{2}\right)^{p+1} - \left(\frac{1}{2} - \lambda\right)^{p+1}}{p+1} \right] - \left[\frac{\left(\lambda - \frac{1}{2}\right)^{p+2} + \left(\frac{1}{2} - \lambda\right)^{p+2}}{p+2} \right]$$

Proof. Since the function $|f'|^q$ is multiplicatively harmonically P -function on interval $[a, b]$ and using Lemma 1 and Hölder-İşcan integral inequality, we have

$$I_f(\lambda, \mu, a, b) \leq 2ab(b - a) \left\{ \left(\int_0^{1/2} \left(\frac{1}{2} - t\right) |\mu - t|^p dt \right)^{\frac{1}{p}} \left(\int_0^{1/2} \left(\frac{1}{2} - t\right) \frac{|f'(a)|^q |f'(b)|^q}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right. \\ \left. + \left(\int_0^{1/2} t |\mu - t|^p dt \right)^{\frac{1}{p}} \left(\int_0^{1/2} t \frac{|f'(a)|^q |f'(b)|^q}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right. \\ \left. + \left(\int_{1/2}^1 (1 - t) |\lambda - t|^p dt \right)^{\frac{1}{p}} \left(\int_{1/2}^1 (1 - t) \frac{|f'(a)|^q |f'(b)|^q}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right. \\ \left. + \left(\int_{1/2}^1 \left(t - \frac{1}{2}\right) |\lambda - t|^p dt \right)^{\frac{1}{p}} \left(\int_{1/2}^1 \left(t - \frac{1}{2}\right) \frac{|f'(a)|^q |f'(b)|^q}{A_t^{2q}} dt \right)^{\frac{1}{q}} \right\} \\ \leq 2ab(b - a)|f'(a)||f'(b)| \left\{ \left(\int_0^{1/2} \left(\frac{1}{2} - t\right) |\mu - t|^p dt \right)^{\frac{1}{p}} \left(\int_0^{1/2} \left(\frac{1}{2} - t\right) A_t^{-2q} dt \right)^{\frac{1}{q}} \right. \\ \left. + \left(\int_0^{1/2} t |\mu - t|^p dt \right)^{\frac{1}{p}} \left(\int_0^{1/2} t A_t^{-2q} dt \right)^{\frac{1}{q}} + \left(\int_{1/2}^1 (1 - t) |\lambda - t|^p dt \right)^{\frac{1}{p}} \left(\int_{1/2}^1 (1 - t) A_t^{-2q} dt \right)^{\frac{1}{q}} \right. \\ \left. + \left(\int_{1/2}^1 \left(t - \frac{1}{2}\right) |\lambda - t|^p dt \right)^{\frac{1}{p}} \left(\int_{1/2}^1 \left(t - \frac{1}{2}\right) A_t^{-2q} dt \right)^{\frac{1}{q}} \right\},$$

here it is seen by simple computation that

$$D_5(q, a, b) = \int_0^{1/2} \left(\frac{1}{2} - t\right) A_t^{-2q} dt = \frac{1}{2(b-a)} [AL_{-2q}^{-2q}(A, a) - L_{-2q+1}^{-2q+1}(A, a)],$$

$$D_6(q, a, b) = \int_0^{1/2} t A_t^{-2q} dt = \frac{1}{2(b-a)} [L_{-2q+1}^{-2q+1}(A, a) - aL_{-2q}^{-2q}(A, a)],$$

$$D_7(q, a, b) = \int_{1/2}^1 (1 - t) A_t^{-2q} dt = \frac{1}{2(b-a)} [bL_{-2q}^{-2q}(b, B) - L_{-2q+1}^{-2q+1}(b, B)],$$

$$D_8(q, a, b) = \int_{1/2}^1 \left(t - \frac{1}{2}\right) A_t^{-2q} dt = \frac{1}{2(b-a)} [L_{-2q+1}^{-2q+1}(b, A) - AL_{-2q}^{-2q}(b, A)].$$

Therefore, the proof is completed.

In the following, Hermite-Hadamard type and Simpson type integral inequalities are obtained in special cases of λ and μ .

Corollary 5. Under the assumptions of Theorem 10 with $\lambda = \mu = \frac{1}{2}$, the inequality (2.4) reduced to the following Hermite-Hadamard type inequality

$$\left| \frac{f(a)+f(b)}{2} - \frac{ab}{b-a} \int_a^b \frac{f(u)}{u^2} du \right| \leq 2ab(b-a)|f'(a)||f'(b)| \\ \times \left\{ C_5^{\frac{1}{2}}\left(\frac{1}{2}, p\right) D_5^q(q, a, b) + C_6^{\frac{1}{2}}\left(\frac{1}{2}, p\right) D_6^q(q, a, b) + C_7^{\frac{1}{2}}\left(\frac{1}{2}, p\right) D_7^q(q, a, b) + C_8^{\frac{1}{2}}\left(\frac{1}{2}, p\right) D_8^q(q, a, b) \right\}.$$

Corollary 6. Under the assumptions of Theorem 10 with $\mu = 0$ and $\lambda = 1$, the inequality (2.4) reduced to the following Hermite-Hadamard type inequality

$$\left| f\left(\frac{2ab}{a+b}\right) - \frac{ab}{b-a} \int_a^b \frac{f(u)}{u^2} du \right| \leq 2ab(b-a)|f'(a)||f'(b)| \\ \times \left\{ C_5^p(0, p) D_5^q(q, a, b) + C_6^p(0, p) D_6^q(q, a, b) + C_7^p(1, p) D_7^q(q, a, b) + C_8^p(1, p) D_8^q(q, a, b) \right\}.$$

Corollary 7. Under the assumptions of Theorem 10 with $\mu = \frac{1}{6}$ and $\lambda = \frac{5}{6}$, the inequality (2.4) reduced to the following Simpson type inequality

$$\left| \frac{1}{3} \left[\frac{f(a)+f(b)}{2} + 2f\left(\frac{2ab}{a+b}\right) \right] - \frac{ab}{b-a} \int_a^b \frac{f(u)}{u^2} du \right| \leq 2ab(b-a)|f'(a)||f'(b)| \\ \times \left\{ C_5^{\frac{1}{6}}\left(\frac{1}{6}, p\right) D_5^q(q, a, b) + C_6^{\frac{1}{6}}\left(\frac{1}{6}, p\right) D_6^q(q, a, b) + C_7^{\frac{1}{6}}\left(\frac{5}{6}, p\right) D_7^q(q, a, b) + C_8^{\frac{1}{6}}\left(\frac{5}{6}, p\right) D_8^q(q, a, b) \right\}.$$

Remark 2. Since $|f'(x)|^q = x$ and $|f'(x)|^q = e^x$ are multiplicatively P -functions, by considering $|f'(x)| = x^{\frac{1}{q}}, x > 0$ and $|f'(x)| = e^x$ functions, applications can be made for the above two theorems and the results of these theorems.

REFERENCES

- [1] Dragomir, S. S., (2000) Agarwal, R. P. & Cerone, P. On Simpson's inequality and applications., *J. Inequal. Appl.* 5, 533-579.
- [2] Dragomir, SS. and Pearce CEM., (2003) Selected topics on Hermite-Hadamard inequalities and applications, *Mathematics Preprint Archive*.
- [3] Dragomir SS, Pečarić JE, Persson LE., (1995) Some inequalities of Hadamard type. *Soochow J. Math.* 21:335-341.
- [4] İşcan İ., (2014) Hermite-Hadamard type inequalities for harmonically convex functions. *Hacet. J. Math. Stat.* Volume 43 (6) (2014), 935 – 942.
- [5] İşcan İ., (2014) Some new general integral inequalities for h -convex and h -concave functions. *Adv. Pure Appl. Math.* 5(1):21-29.
- [6] İşcan İ., (2014) Hermite-Hadamard type inequalities for GA-s-convex functions. *Le Matematiche*, Vol. LXIX, Fasc. II, pp. 129-146.
- [7] İşcan, İ., (2019) New refinements for integral and sum forms of Hölder inequality, *Researchgate*, DOI: 10.13140/RG.2.2.19356.54409, Preprint, January.
- [8] İşcan, İ., Numan S. and Bekar K., (2014) Hermite-Hadamard and Simpson Type Inequalities for Differentiable Harmonically P-functions, *British Journal of Mathematics & Computer Science*, 4(14): 1908-1920.
- [9] İşcan İ. and Olucak V., (2019) Multiplicatively harmonically P -functions and some

- related inequalities, *Sigma J Eng & Nat Sci*, 37 (2), 521-528.
- [10] Kadakal H., (2018) Multiplicatively P -functions and some new inequalities, *New Trends in Mathematical Sciences*, NTMSCI 6, No. 4, 111-118.
- [11] Kadakal H., (2018) Hermite-Hadamard type inequalities for trigonometrically convex functions, *Scientific Studies and Research, Series Mathematics and Informatics*, Vol. 28, No. 2, 19-28
- [12] Kadakal M., İşcan İ., Kadakal H. and Bekar K., (2019) On improvements of some integral inequalities, *Researchgate*, DOI: 10.13140/RG.2.2.15052.46724, Preprint, January.
- [13] Niculescu CP., (2003) Convexity according to means. *Math. Inequal. Appl.* 6(4):571-579. Available online at <http://dx.doi.org/10.7153/mia-06-53>.
- [14] Özdemir ME, Yıldız Ç., (2013) New inequalities for Hermite-Hadamard and Simpson type with applications. *Tamkang journal of Mathematics*. 44(2):209-216.